

Indicative

Business Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Undergraduate								
Accounting	Bachelor of Commerce (Accounting)	Melbourne, Sydney, Online	107271K	3	24	\$3,725	\$29,800	\$89,400
Business	Diploma of Business	Adelaide, Brisbane, Melbourne, Sydney, Online	090282F	1	8	\$3,725	\$29,800	\$29,800
2	Bachelor of Business	Adelaide, Brisbane, Melbourne, Sydney, Online	090275E	3	24	\$3,725	\$29,800	\$89,400
Business Information Systems	Diploma of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	0100552	1	8	\$3,725	\$29,800	\$29,800
	Bachelor of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	0100551	3	24	\$3,725	\$29,800	\$89,400
Entrepreneurship	Bachelor of Business (Entrepreneurship)	Sydney, Online	095229D	3	24	\$3,725	\$29,800	\$89,400
Event Management	Bachelor of Business (Event Management)	Brisbane, Sydney, Online	090278B	3	24	\$3,623	\$28,980	\$86,940
Hospitality and Tourism Management	Diploma of Business (Hospitality and Tourism Management)	Sydney, Online	114738K	1	8	\$3,623	\$28,980	\$28,980
	Bachelor of Business (Hospitality and Tourism Management)	Sydney, Online	113665H	3	24	\$3,623	\$28,980	\$86,940
Marketing	Diploma of Business (Marketing)	Adelaide, Brisbane, Melbourne, Sydney, Online	114739J	1	8	\$3,725	\$29,800	\$29,800
	Bachelor of Business (Marketing)	Adelaide, Brisbane, Melbourne, Sydney, Online	090279A	3	24	\$3,725	\$29,800	\$89,400
Sport Management	Bachelor of Business (Sport Management)	Adelaide, Sydney, Online	090265G	3	24	\$3,725	\$29,800	\$89,400

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indicative

Business Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Postgraduate								
Accounting	Master of Professional Accounting	Melbourne, Sydney, Online	095358F	1.5	12	\$4,238	\$33,900	\$50,850
	Master of Professional Accounting (Advanced)	Melbourne, Sydney, Online	090254K	2	16	\$4,238	\$33,900	\$67,800
Business Administration	Graduate Certificate of Business Administration	Adelaide, Brisbane, Melbourne, Sydney, Online	095349G	0.5	4	\$4,238	\$16,950	\$16,950
	Graduate Diploma of Business Administration	Adelaide, Brisbane, Melbourne, Sydney, Online	095352A	1	8	\$4,238	\$33,900	\$33,900
	Master of Business Administration	Adelaide, Brisbane, Melbourne, Sydney, Online	095353M	1.5	12	\$4,238	\$33,900	\$50,850
	Master of Business Administration (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	088149G	2	16	\$4,238	\$33,900	\$67,800
	Master of Business Administration & Master of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	090241D	2	16	\$4,238	\$33,900	\$67,800
	Master of Business Administration & Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090242C	2	16	\$3,780	\$30,240	\$60,480
Business Administration (On Demand)	Graduate Certificate of Business Administration (On Demand)							
	Graduate Diploma of Business Administration (On Demand)		See page 1	7 for Internat	ional Offshore o	courses.		
	Master of Business Administration (On Demand)							
Business Analytics	Master of Business Analytics	Adelaide, Brisbane, Melbourne, Sydney, Online	110668G	1.5	12	\$4,238	\$33,900	\$50,850
	Master of Business Analytics (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	110667H	2	16	\$4,238	\$33,900	\$67,800

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indicative

Business Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Postgraduate								
Business Information Systems	Graduate Diploma of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	098258G	1	8	\$4,238	\$33,900	\$33,900
	Master of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	098257J	2	16	\$4,238	\$33,900	\$67,800
Economics of Sustainability	Graduate Certificate of Economics of Sustainability							
	Graduate Diploma of Economics of Sustainability		See page 1	7 for Internat	ional Offshore o	courses.		
	Master of Economics of Sustainability							
Engineering Management	Master of Engineering Management	Adelaide, Brisbane, Melbourne, Sydney, Online	102618F	2	16	\$4,238	\$33,900	\$67,800
Project Management	Graduate Certificate of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	095351B	0.5	4	\$4,238	\$16,950	\$16,950
	Graduate Diploma of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	090245M	1	8	\$4,238	\$33,900	\$33,900
	Master of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	095357G	1.5	12	\$4,238	\$33,900	\$50,850
	Master of Global Project Management (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	090247J	2	16	\$4,238	\$33,900	\$67,800
	Master of Business Administration & Master of Global Project Management	Adelaide, Brisbane, Melbourne, Sydney, Online	090241D	2	16	\$4,238	\$33,900	\$67,800
	Master of Global Project Management & Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090248G	2	16	\$3,780	\$30,240	\$ 60,480
Sport Management	Master of Business Administration (Sport Management) (Advanced)	Adelaide, Brisbane, Melbourne, Sydney, Online	0101388	2	16	\$4,894	\$39,150	\$78,300

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indicative

Indicative

Design and Creative Technology Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Undergraduate								
Design	Diploma of Design	Melbourne, Sydney, Online	094008C	1	8	\$4,425	\$35,400	\$35,400
Communication Design	Diploma of Graphic Design	Brisbane, Melbourne, Sydney, Online	102489K	1.5	12	\$2,950	\$23,600	\$35,400
	Diploma of Communication Design	Brisbane, Melbourne, Sydney, Online	090303F	1	8	\$4,425	\$35,400	\$35,400
Tashion	Bachelor of Communication Design	Brisbane, Melbourne, Sydney, Online	090295A	3	24	\$4,425	\$35,400	\$106,200
Fashion	Diploma of Branded Fashion Design	Brisbane, Melbourne, Sydney, Online	107018A	1	8	\$4,425	\$35,400	\$35,400
	Diploma of Fashion Marketing & Enterprise	Brisbane, Melbourne, Sydney, Online	108078C	1	8	\$4,425	\$35,400	\$35,400
	Bachelor of Branded Fashion Design	Brisbane, Melbourne, Sydney, Online	090293C	3	24	\$4,425	\$35,400	\$106,200
	Bachelor of Fashion Marketing & Enterprise	Brisbane, Melbourne, Sydney, Online	108076E	3	23**	\$4,425	\$35,400	\$106,200
Interior & Built Environment Architectural	Advanced Diploma of Interior Design and Decoration	Brisbane, Melbourne, Sydney, Online	117125D	1.5	12	\$2,950	\$23,600	\$35,400
Technology	Diploma of Interior Design and Decoration	Brisbane, Melbourne, Sydney, Online	092484B	1	8	\$2,950	\$23,600	\$23,600
	Bachelor of Interior Design (Commercial)	Sydney, Online	105417B	3	24	\$4,425	\$35,400	\$106,200
	Bachelor of Interior Design (Residential)	Brisbane, Melbourne, Sydney, Online	105419M	3	24	\$4,425	\$35,400	\$106,200
	Bachelor of Architectural Technology	Sydney, Online	114510H	3	24	\$4,425	\$35,400	\$106,200
Photography & Photo Imaging	Diploma of Photography & Photo Imaging	Sydney, Online	102490F	1.5	12	\$2,950	\$23,600	\$35,400

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected.

**This course contains subjects at double or triple credit points. Subject prices are based on 10 credit point blocks. Talk to the International Recruitment team or your local Education Agent for any pricing questions for this course.

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia



Indiantica

In dia atiwa

Design and Creative Technology Courses

Field of study Undergraduate	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Ondergraduate								
3D Design & Animation	Diploma of 3D Design & Animation	Sydney, Online	103343J	1.5	12	\$2,950	\$23,600	\$35,400
	Bachelor of 3D Design & Animation	Sydney, Online	103341M	3	24	\$4,425	\$35,400	\$106,200
UX & Web Design	Diploma of UX & Web Design	Sydney, Online	103346F	1.5	12	\$2,950	\$23,600	\$35,400

Postgraduate								
Design	Graduate Certificate of Design	Sydney, Online	114513E	0.5	4	\$4,100	\$16,400	\$16,400
	Master of Design	Sydney, Online	114511G	1.5	9**	\$4,100	\$32,800	\$49,200
				2	13**	\$4,238	\$33,900	\$67,800

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

**This course contains subjects at double or triple credit points. Subject prices are based on 10 credit point blocks. Talk to the International Recruitment team or your local Education Agent for any pricing questions for this course.

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Billy Blue College of Design at Torrens University Australia



Indicative

Technology Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Undergraduate								
Business Information Systems	Diploma of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	0100552	1	8	\$3,725	\$29,800	\$29,800
	Bachelor of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	0100551	3	24	\$3,725	\$29,800	\$89,400
Cybersecurity	Diploma of Cybersecurity	Adelaide, Brisbane, Melbourne, Sydney, Online	110738J	1	8	\$4,425	\$35,400	\$35,400
	Bachelor of Cybersecurity	Melbourne, Sydney, Online	110736M	3	22**	\$4,425	\$35,400	\$106,200
Gaming	Diploma of Game Design & Development	Sydney, Online	102263F	1	8	\$4,425	\$35,400	\$35,400
	Bachelor of Game Design & Development	Sydney, Online	095346K	3	22**	\$4,425	\$35,400	\$106,200
Information Technology	Diploma of Information Technology	Adelaide, Brisbane, Melbourne, Sydney, Online	108469K	1	8	\$3,725	\$29,800	\$29,800
	Bachelor of Information Technology	Adelaide, Brisbane, Melbourne, Sydney, Online	108468M	3	22**	\$3,725	\$29,800	\$89,400
Software Engineering	Bachelor of Software Engineering (Artificial Intelligence)	Melbourne, Sydney, Online	099352B	3	22**	\$4,425	\$35,400	\$106,200

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

**This course contains subjects at double or triple credit points. Subject prices are based on 10 credit point blocks. Talk to the International Recruitment team or your local Education Agent for any pricing questions for this course.

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indicative

Technology Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Postgraduate								
Business Information Systems	Graduate Diploma of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	098258G	1	8	\$4,238	\$33,900	\$33,900
	Master of Business Information Systems	Adelaide, Brisbane, Melbourne, Sydney, Online	098257J	2	16	\$4,238	\$33,900	\$67,800
Cybersecurity	Graduate Certificate of Cybersecurity	Adelaide, Brisbane, Melbourne, Online	110794A	0.5	4	\$4,725	\$18,900	\$18,900
	Graduate Diploma of Cybersecurity	Adelaide, Brisbane, Melbourne	110793B	1	8	\$4,725	\$37,800	\$37,800
	Master of Cybersecurity	Adelaide, Brisbane, Melbourne	110792C	1.5	11**	\$4,725	\$37,800	\$56,700
	Master of Cybersecurity (Advanced)	Adelaide, Brisbane, Melbourne	110791D	2	13**	\$4,725	\$37,800	\$75,600
Information Technology	Graduate Certificate of Information Technology	Adelaide, Brisbane, Melbourne, Sydney, Online	107048F	0.5	4	\$4,238	\$16,950	\$16,950
	Graduate Diploma of Information Technology	Adelaide, Brisbane, Melbourne, Sydney	107047G	1	8	\$4,238	\$33,900	\$33,900
	Master of Information Technology	Adelaide, Brisbane, Melbourne, Sydney	107046H	1.5	11**	\$4,238	\$33,900	\$50,850
	Master of Information Technology (Advanced)	Adelaide, Brisbane, Melbourne, Sydney	107045J	2	13**	\$4,238	\$33,900	\$67,800
Software Engineering	Master of Software Engineering (Artificial Intelligence, Advanced)	Melbourne, Sydney	099353A	2	13**	\$4,725	\$37,800	\$75,600

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

**This course contains subjects at double or triple credit points. Subject prices are based on 10 credit point blocks. Talk to the International Recruitment team or your local Education Agent for any pricing questions for this course.

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indicative

Education Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Postgraduate				,				
Education	Graduate Certificate of Education	Melbourne, Sydney, Online	113060D	0.5	4	\$3,313	\$13,250	\$13,250
Learning and Teaching	Graduate Certificate in Learning and Teaching	Online	095593F	0.5	4	\$3,313	\$13,250	\$13,250
Inclusive Education	Graduate Diploma of Education (Inclusive Education)	Melbourne, Sydney, Online	13065K	1	8	\$3,313	\$26,500	\$26,500
	Master of Education (Inclusive Education)	Melbourne, Sydney, Online	113064M	1.5	12	\$3,313	\$26,500	\$39,750
	Master of Education (Inclusive Education) (Advanced)	Melbourne, Sydney, Online	113063A	2	16	\$3,313	\$26,500	\$53,000
Inclusive Literacies	Graduate Diploma of Education (Inclusive Literacies)	Melbourne, Sydney, Online	113069F	1	8	\$3,313	\$26,500	\$26,500
	Master of Education (Inclusive Literacies)	Melbourne, Sydney, Online	113068G	1.5	12	\$3,313	\$26,500	\$39,750
	Master of Education (Inclusive Literacies) (Advanced)	Melbourne, Sydney, Online	113067H	2	16	\$3,313	\$26,500	\$53,000
Leadership and Innovation	Graduate Diploma of Education (Leadership and Innovation)	Melbourne, Sydney, Online	113062B	1	8	\$3,313	\$26,500	\$26,500
	Master of Education (Leadership and Innovation)	Melbourne, Sydney, Online	113061C	1.5	12	\$3,313	\$26,500	\$39,750
	Master of Education (Leadership and Innovation) (Advanced)	Melbourne, Sydney, Online	113059H	2	16	\$3,313	\$26,500	\$53,000

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indicative

Health Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Undergraduate								
Beauty & Aesthetics	Diploma of Beauty & Spa Practice	Brisbane, Online	094184J	1	8	\$4,100	\$32,800	\$32,800
Complementary	Bachelor of Health Science (Aesthetics)	Brisbane, Online (with mandatory on-campus sessions)	093345E	3	24	\$3,938	\$31,500	\$94,500
Complementary Medicine	Diploma of Health Science	Brisbane, Melbourne, Sydney, Online	099640E	1	8	\$3,456	\$27,650	\$27,650
	Bachelor of Health Science (Chinese Medicine)	Melbourne	102914J	4	32	\$3,456	\$27,650	\$110,600
	Bachelor of Health Science (Naturopathy)	Brisbane, Melbourne, Sydney	099643B	4	32	\$3,456	\$27,650	\$110,600
	Bachelor of Health Science (Western Herbal Medicine)	Brisbane, Melbourne, Sydney	099641D	3	24	\$3,456	\$27,650	\$82,950
Community Services	Bachelor of Community Services	Adelaide, Melbourne, Sydney, Online	111741F	3	24	\$3,456	\$27,650	\$82,950
Nursing	Bachelor of Nursing	Adelaide, Brisbane, Melbourne, Sydney	0100910	3	24	\$4,163	\$33,300	\$99,900
Nutrition	Bachelor of Health Science (Clinical Nutrition)	Brisbane, Melbourne, Sydney	099642C	3	24	\$3,456	\$27,650	\$82,950

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Health Courses

Field of study Postgraduate	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	Indicative total course tuition fees (\$AUD)*
Public Health	Graduate Certificate of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	097405K	0.5	4	\$3,750	\$15,000	\$15,000
	Graduate Diploma of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	097406J	1	8	\$3,750	\$30,000	\$30,000
	Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	097404M	1.5	12	\$3,750	\$30,000	\$45,000
	Master of Public Health (Advanced)	Adelaide, Brisbane, Melbourne, Sydney	095594E	2	16	\$3,750	\$30,000	\$60,000
	Master of Business Administration & Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090242C	2	16	\$3,780	\$30,240	\$60,480
	Master of Global Project Management & Master of Public Health	Adelaide, Brisbane, Melbourne, Sydney, Online	090248G	2	16	\$3,780	\$30,240	\$60,480

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



Indiantiva

Indiantiva

Health Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	Indicative total course tuition fees (\$AUD)*
Undergraduate								
Complementary Medicine	Bachelor of Health Science (Clinical Myotherapy)	Melbourne	084579F	3	24	\$3,456	\$27,650	\$82,950
Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Units of competency	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	Indicative total course tuition fees (\$AUD)*
Undergraduate								
Nursing	HLT54121 Diploma of Nursing	Adelaide, Brisbane, Melbourne, Sydney	110190G	1.6	25	See below table for breakdown	\$24,938	\$39,900

Course

2025

Fee Breakdown

HLT54121 Diploma of Nursing CRICOS Code: 110190G	Course fee per trimester
Trimester 1	\$7,481
Trimester 2	\$9,177
Trimester 3	\$8,279
Trimester 4	\$8,354
Trimester 5	\$6,608
Total	\$39,900

All fees must be paid up by the due date - payment plans are not available for international students.

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

These courses are offered by Think Education, part of Torrens Global Education.

Think Colleges Pty Itd, ABN 93 050 049 299, RTO 0269, CRICOS 00246M T/A Southern School of Natural Therapies.

Torrens University Australia Ltd, ABN 99 154 937 005, RTO 41343 CRICOS 03389E T/A Southern School of Natural Therapies at Torrens University Australia.



Hospitality and Event Management Courses

Field of study Undergraduate	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	Indicative total course tuition fees (\$AUD)*
Hospitality and Tourism Management	Diploma of Business (Hospitality and Tourism Management)	Sydney, Online	114738K	1	8	\$3,623	\$28,980	\$28,980
	Bachelor of Business (Hospitality and Tourism Management)	Sydney, Online	113665H	3	24	\$3,623	\$28,980	\$86,940
Event Management	Bachelor of Business (Event Management)	Brisbane, Sydney, Online	090278B	3	24	\$3,623	\$28,980	\$86,940

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E





Hotel Management Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	Indicative total course tuition fees (\$AUD)*
Undergraduate								
Hotel & Resort Management	Diploma of Business (International Hotel & Resort Management)	Blue Mountains	089927F	1	8	\$4,686	\$37,485	\$37,485
	Associate Degree of Business (International Hotel & Resort Management)	Blue Mountains	089926G	2	16	\$4,686	\$37,485	\$74,970
	Bachelor of Business (International Hotel & Resort Management)	Blue Mountains	089925G	2.5	24	\$4,686	\$37,485	\$112,455
Postgraduate								
International Hotel Management	Graduate Certificate in International Hotel Management (continuing/existing students)	Adelaide, Melbourne, Sydney	089932J	0.5	4	\$4,910	\$19,640	\$19,640
	Graduate Certificate in International Hotel Management (new students)	Adelaide, Melbourne, Sydney	089932J	0.5	4	\$5,375	\$21,500	\$21,500
	Master of International Hotel Management (continuing/existing students)	Adelaide, Melbourne, Sydney	089931K	2	12	\$4,910	\$29,460	\$58,920
	Master of International Hotel Management (new students)	Adelaide, Melbourne, Sydney	089931K	2	12	\$5,375	\$32,250	\$64,500

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected.

For a breakdown of the Hotel & Resort Management and International Hotel Management suite of course fees and additional charges, please see page 18.

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Blue Mountains International Hotel Management School at Torrens University Australia (Sydney and Leura, Blue Mountains)





Indicativo

Performing Arts course

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Undergraduate								
Performing Arts	Bachelor of Performing Arts (Stage and Screen)	ACA's Sydney campus	109434B	3	24	\$4,056	\$32,450	\$97,350

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected. For a breakdown of the course fees and additional charges, please see refer to the **website**. Bachelor of Performing Arts (Stage and Screen) is accredited by Torrens University Australia Ltd, ABN 99 154 937 005, PVR 12209, RTO 41343 CRICOS 03389E and was created, developed and is delivered by ACA Sydney Pty Ltd ABN 136 01 586 467, RTO 45065



Indicative

Higher Degrees by Research Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	total course tuition fees (\$AUD)*
Postgraduate								
Research	Graduate Certificate of Research Studies	Adelaide, Brisbane, Melbourne, Sydney, Online	108075F	0.5	4	\$3,469	\$13,875	\$13,875
	Graduate Diploma of Research Studies	Adelaide, Brisbane, Melbourne, Sydney, Online	109130G	1	8	\$3,469	\$27,750	\$27,750
	Master of Research Studies	Adelaide, Brisbane, Melbourne, Sydney, Online	115327K	2	16	\$3,469	\$27,750	\$55,500
	Master of Philosophy	Adelaide, Brisbane, Melbourne, Sydney, Online	096609F	2	16	\$3,469	\$27,750	\$55,500
	Doctor of Philosophy	Adelaide, Brisbane, Melbourne, Sydney, Online	096608G	3	24	\$3,469	\$27,750	\$83,250
	Professional Doctorate (Research)	Adelaide, Brisbane, Melbourne, Sydney, Online	108074G	3	24	\$3,469	\$27,750	\$83,250

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E



English Language Courses

Field of study	Course	Campus	Course CRICOS code	Course duration full time	2025 enrolment fee (\$AUD)*	Indicative 2025 weekly fees (\$AUD)*	Indicative 2025 material fee (\$AUD)*
TULC General English	General English (Elementary to Advanced)	Melboune, Sydney, Online	0101786	10-40 weeks	\$210	\$420	\$10 Per week (capped at \$200 per application)
English for Academic Purposes	English for Academic Purposes (EAP) 1	Adelaide, Brisbane, Melbourne, Sydney, Online	098575F	10-30 weeks	\$210	\$420	\$10 Per week (capped at \$200 per application)
	English for Academic Purposes (EAP) 2	Adelaide, Brisbane, Melbourne, Sydney, Online	098576E	10-30 weeks	\$210	\$420	\$10 Per week (capped at \$200 per application)

Special promotional fees by region may be available, please contact your agent or email us at study@torrens.edu.au



International Offshore Courses

Field of study Postgraduate	Course	Campus	Course CRICOS code	Course duration full time (years)	Number of subjects	2025 standard subject fee (\$AUD)*	Indicative 2025 annual fees (\$AUD)*	Indicative total course tuition fees (\$AUD)*
Business Administration	Graduate Certificate of Business Administration (On Demand)	Online	N/A	0.5	4	\$2,375	\$9,500	\$9,500
	Graduate Diploma of Business Administration (On Demand)	Online	N/A	1	8	\$2,375	\$19,000	\$19,000
	Master of Business Administration (On Demand)	Online	N/A	1.5	12	\$2,375	\$19,000	\$28,500
Economics of Sustainability	Graduate Certificate of Economics of Sustainability	Online	N/A	0.5	4	\$3,465	\$13,860	\$13,860
	Graduate Diploma of Economics of Sustainability	Online	N/A	1	8	\$3,465	\$27,720	\$27,720
	Master of Economics of Sustainability	Online	N/A	1.5	12	\$3,465	\$27,720	\$41,580

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E





Additional fees and charges for Hotel Management Courses at Blue Mountains International Hotel Management School at Torrens University Australia

Course	\$ AUD	Term 1 Leura	Term 2 Leura	Term 3 & 4	Term 5 Leura	Term 6 Leura	Term 7 & 8	Term 9 Sydney	Term 10 Sydney	Totals
Undergraduate: Dip	oloma, Ass	ociate Degr	ee and Bach	elor of Busi	ness (Inter	national Ho	tel & Resort	Managem	ent)	
Tuition [^]		\$18,743	\$18,743		\$18,743	\$18,743		\$18,743	\$18,743	\$112,455
Room & Board#		\$5,150	\$5,150		\$5,150	\$5,150		n/a	n/a	\$20,600
Residential Bond		\$1,200								\$1,200
Tools of the Trade		\$350		Industry Placement			Industry Placement			\$350
Uniform		\$1,050		600 hours			600 hours			\$1,050
Health Cover (OSHC estimated 33 months)		\$1,741								\$1,741
Grand Total		\$28,233	\$23,893		\$23,893	\$23,893		\$18,743	\$18,743	\$137,396
Potential Earnings**		\$5,784	\$5,784	† \$14,460	\$5,784	\$5,784	† \$14,460	\$5,784	\$5,784	\$63,624
Cost after potential	earnings									\$73,772

Course Postgraduate: Grad	\$ AUD luate Cer	Term 1 Sydney/ Melbourne/ Adelaide tificate and M	Term 2 Sydney/ Melbourne/ Adelaide aster Degree	Term 3 Sydney/ Melbourne/ Adelaide in Internation	Term 4 Sydney/ Melbourne/ Adelaide nal Hotel Mar	Term 5 & 6 nagement	Term 7 Sydney/ Melbourne/ Adelaide	Term 8 Sydney/ Melbourne/ Adelaide	
Continuing / Existing	Students								
Tuition [^]		\$9,820	\$9,820	\$9,820	\$9,820	- Induction	\$9,820	\$9,820	\$58,920
Health Cover (OSHC estimated 27 months)		\$1,390				Industry Placement 600 hours			\$1,390
Grand Total		\$11,210	\$9,820	\$9,820	\$9,820	000 110013	\$9,820	\$9,820	\$60,310
Potential Earnings**		\$5,784	\$5,784	\$5,784	\$5,784	† \$14,460	\$5,784	\$5,784	\$49,164
Cost after potential of	earnings								\$11,146
New Students									
Tuition [^]		\$10,750	\$10,750	\$10,750	\$10,750		\$10,750	\$10,750	\$64,500
Health Cover (OSHC estimated 27 months)		\$1,390				Industry Placement 600 hours			\$1,390
Grand Total		\$12,140	\$10,750	\$10,750	\$10,750	000 nours	\$10,750	\$10,750	\$65,890
Potential Earnings**		\$5,784	\$5,784	\$5,784	\$5,784	† \$14,460	\$5,784	\$5,784	\$49,164
Cost after potential	earnings								\$16,726

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Blue Mountains International Hotel Management School at Torrens University Australia (Sydney and Leura, Blue Mountains)

^ Term 1 and term 2 of the undergraduate programs may vary depending on delivery of the applied units and have 3 and 5 units respectively or 5 and 3 units depending on the delivery schedule. Students are invoiced accordingly. Units that are repeated will be charged at the per unit rate as per the fee schedule at that time the unit is repeated. # Leura Campus's twin-share accommodation with ensuite is \$5,150 per term. Single rooms with ensuite are available at \$6,700 including GST per term. Subject to availability. ** Potential earnings are indicative only and should only be used as a guide. Potential earnings when not on Industry Placement (IP) is based on \$24.10 per hour (gross minimum wage before tax) for 24 hours per week (48 hours per fortnight) over ten weeks (1 term). Each IP figure is based on \$24.10 per hour multiplied by the hours stated above. Students may have the opportunity to work more IP hours than stated, and on average undergraduate students work 800 hours on their IP. Minimum wages outlined in the National Workplace Relations system are reviewed by Fair Work Australia annually.





Additional fees and charges for Hotel Management courses at Blue Mountains International Hotel Management School at Torrens University Australia

Deposit

Undergraduate Students: An AUD\$3,200 deposit is required and this consists of (1) AUD\$2,000 one-off non-refundable pre-payment of Term 1 fees and other fees. (2) Residential Bond of AU\$1,200 is refundable on successful completion of Level 2.

Postgraduate Students: An AU\$2,000 deposit is required and this consists of an AUD\$2,000 one-off non-refundable pre-payment of Term 1 fees and other fees.

The deposit is required once the Letter of Offer has been signed.

Invoicing

Students are invoiced on a term by term basis by unit. The current fee schedule is based on 4 units by term for the undergraduate programs and 2 units by term for the postgraduate programs.

Fee inclusions

Please note that all the costs detailed below are included in the tuition and residential package fees and the one-off and recurring costs quoted in the Fee Schedule except where indicated.

Leura campus residential package fees

Residential package includes all meals, accommodation, all residential facilities, in-room telephone access, use of sporting and recreational facilities, guest lounge, multimedia and games room, student laundry facilities and 24-hour duty manager assistance.

Meals: All meals are included. At Leura, students can choose from a fine dining restaurant, a bistro and a café. Where students are unable to attend scheduled meal times for medical or other reasons, they can receive room service. Menu choices cover a range of international cuisines and always include a vegetarian option. Other dietary requirements should be noted on a student's application form. Responsible Service of Alcohol is strictly adhered to.

Accommodation: Residing on campus is required in your first two years of the undergraduate programs. Living on campus is required as this provides an opportunity to bond closely with other students and meet the demanding schedule of applied units including late and early shifts.

The student rooms are serviced once a week and all linen is provided. All student rooms have a private telephone line and 24/7 access to both the School intranet and internet.

Laundry: The Leura campus has laundry facilities with washing machines, dryers and ironing boards available to all students free of charge. An off-campus bag service and dry-cleaning service is available and can be booked through housekeeping.

Front Office: The Leura Front Office takes care of all student's mail, student accounts (for any extra charges such as photocopying, printing, library fines, extra food and beverage items) and offers sale of stationery supplies such as assignment binders, laminating pouches and envelopes. It also offers a newspaper subscription and delivery service.

Accommodation options in Sydney, Melbourne and Adelaide

Students studying at our Sydney, Melbourne or Adelaide Campus live off-campus. BMIHMS at Torrens University Australia does not hold any agreements with accommodation providers, but can recommend various accommodation options and provide guidance. It is students' responsibility to find their own accommodation. As a guide, rent may cost between AU\$198-AU\$700 per week...

One-off cost on entry

Tools of Trade: The kit includes a crumbing tool, BMIHMS at Torrens University Australia waiter's friend (a cork bottle opener) and a 5 piece professional chef's knife kit which includes a knife roll for travel purposes.

Uniform: The School mirrors a professional business environment where staff and students adhere to a dress code that is standard across the hospitality and tourism industry. Students are required to wear uniforms to all classes. A male student uniform consists of 1 tie, 1 pair black pants, 3 long sleeve white shirts and 1 jacket. A female student uniform consists of 1 tie, 1 pair of black pants or skirt, 3 long sleeve business shirts and 1 jacket.

Recurring costs per academic term

Text Books: Textbooks are available online only via the Torrens University library. Essential reading material must be purchased for academic studies and costs provided are approximate for each term.

Photocopying and printing etc: Students have full access to scanning, photocopying and A/V services. Students are issued with a photocopy credit swipe card and usage is charged back to their Front Office account which is settled each week at Front Office.

Special costs

Health cover: International students are required by the Australian Government to join the Overseas Student Health Cover scheme, which provides for a range of medical and hospital care. The OSHC does not cover dental, optical, pharmaceuticals and ambulance services. Health cover will be included in your BMIHMS invoice.

Airport reception and transfers: All new students going to the Leura campus have the opportunity to be met on arrival and transferred from the airport to the campus free of charge on the designated day nominated in the letter of offer.

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E T/A Blue Mountains International Hotel Management School at Torrens University Australia (Sydney and Leura, Blue Mountains)



Additional fees and charges

Type of additional fees and charges cost	Cost
Replacement Testamur - Electronic (MyEquals)	\$50
Replacement Testamur - Hard Copy - Postage within Australia (MyEquals)	\$75
Replacement Testamur - Hard Copy - International Postage (MyEquals)	\$100
Academic Transcript / Statement of Attainment - Electronic	\$15
Academic Transcript / Statement of Attainment - Hard Copy - Postage within Australia (MyEquals)	\$30
Academic Transcript / Statement of Attainment - Hard Copy - International Postage (MyEquals)	\$45
Completion Letter - Hard Copy - Postage within Australia (MyEquals)	\$15
Completion Letter - Hard Copy - International Postage (MyEquals)	\$30
Student ID Card Replacement Fee	\$20
Late Payment Fee	\$100
Graduation Ticket	\$255
Photocopying fee	8 - 40 cents
Printing Fee	8 - 40 cents
Textbooks	Varies across each unit of study

*All prices are indicative. Full 2025 prices are dependent on actual subjects selected

Torrens University Australia Ltd, ABN 99 154 937 005, PVR12209, RTO41343 CRICOS 03389E